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No. X AFEF 2l Gy % No. X AFE 2l =5 %
1 &7 S30 =R ER 10,000 WI5LIRIT 51 24X  s47 B # 10,000 WI5&LR1T
2 HIX  S30 FTH KHR 10,000 WIBLIRIT 52 2241 S47 BmH B 10,000 WI5LIRIT
3 %8  S31 Ba &— 10,000 WI5LIRIT 53 24X  sS47 EH =% 20,000 W554ERTT
4 E8fX  S31 Al FEZ 10,000 WI5LERIT 54 ZE24K  S47 HE BE 10,000 WI5LERIT
5 2o  S32 Bl ZER 10,000 &&RIT 55 241X  sS47 AR Bl 10,000 W55LRIT
6 Z#10X  S33 =5 & 10,000 [LBR1T 56 225X S48 B #H= 10,000 [LBR1T
7 %108  S33 TH BB 10,000 &&RIT 57 ZE26ft  S49 Bt EF 10,000 WI5LR1T
8 10X  S33 Hik =E 30,000 WD55LIRTT 58 Z26ft  S49 EH OHIT 10,000 WI5LERIT
9 ZE10f% S33 BH B 10,000 WI5LR1T 59 #2618  S49 FR BZ 10,000 W55LIRIT
10 10 S33 A B 20,000 & BIRIT 60 227X S50 B & 10,000 L &R1T
11 10 S33 R EE 10,000 WI5LIRTT 61 227X S50 #im Ea 10,000 WI5LIRIT
12 BN S34 IR B 10,000 WIBLLIRIT 62 227X S50 SBE —X 20,000 W5B£IRTT
13 11X S34 NI N 20,000 [L&IRIT 63 278 S50 o 10,000 &E&RIT
14 BN S34 FE X 10,000 WIBLLIRIT 64 228X,  S51 ME ET 10,000 WI5LERIT
15 12X S35 hE EBE 10,000 WI5LIRIT 65 28t  S51 = B 10,000 =&8RIT
16 12X S35 AAR & 10,000 WIB5LIRIT 66 228fX  S51 At X 10,000 WI5LIRIT
17 2138 S36 BEH E 10,000 &&RIT 67 28X  S51 Ea R 10,000 W55LIRIT
18 13X S36 =& & 10,000 WIBLLIRIT 68 228fX  S51 EE &880 10,000 WI5LIRIT
19 2138  S36 BE = 10,000 WI5LIRIT 69 291X  S52 3MHE =8 20,000 W55&ERTT
20 13X  S36 TR 1E 10,000 WIB5LERIT 70 230X  S53 GH  HEsA 10,000 L &R1T
21 #1318 S36 LR [E5L 20,000 W35£IRTT 71 23018  S53 L IEE 10,000 W55LIRIT
22 14X S37 ik EIE 10,000 WI5LERIT 72 %301 S53 i BH 10,000 WI5LERIT
23 ZH/144%  S37 TE @ 20,000 [L&IRIT 73 23018  S53 BEE A 10,000 = &RIT
24 14X S37 LA =8 10,000 WIBLLERIT 74 2301  S53 A BIER 10,000 Ji&8R1T
25 Z/144%  S37 A BE 10,000 WI5LIRIT 75 31  S54 WA L& 20,000 W55&ERTT
26 15  S38 hE IBR 10,000 WIBLLERIT 76 %311 S54 AR # 10,000 WI5LERIT
27 %158 S38 FH = 10,000 &&RIT 77 31 S54 =l M= 10,000 W55&LR1T
28 215  S38 HH O OB= 20,000 & BIRIT 78 %311 S54 IR B 10,000 WI5LERIT
29 158  S38 AfE B 10,000 WI5LIRIT 79 31K S54 Eig B 10,000 WI5LR1T
30 15X S38 PR BE(= 20,000 W35£IRIT 80 %321  S55 Eall & 15,000 /L &R1T
31 /1748 S40 EH HE 10,000 WI5LER1T 81 #3218  S55 Ty ER 10,000 W55LRIT
32 171X S40 By e 20,000 WIBLIRTT 82 #3218  S55 ER & 20,000 WDSBLIRTT
33 /1748 S40 R E 10,000 W55LIRIT 83 33X S56 M RE 10,000 WI5&LR1T
34 %188  S41 kA E=E 10,000 [LBR1T 84 ZE331X  S56 EH EE 10,000 WIB5LERIT
35 %188  S41 BEH E 10,000 WIB5LIRIT 85 £33  S56 Bk EBEZ 10,000 WI5LIRIT
36 19X S42 R 5 10,000 WIB5LERIT 86 #3318 S56 =R RE 10,000 WI5LERIT
37 %208 S43 Bk B 10,000 WI5LIRIT 87 Z344X  S57 E Reh 20,000 W55£8RTT
38 #2018 S43 A A 10,000 [LBRIT 88 ZE341%  S57 LEF AiE 20,000 =EBIRTT
39 2018  s43 WHE =858 10,000 &&RIT 89 Z35(X S58  IRH #EEI-UAH 10,000 WIBLIRIT
40 220X  S43 FAR EX 10,000 WIBLERIT 90 #35f% S58 Bl B& 30,000 =BIRTT
41 FE21R  S44 JefE  EA] 10,000 WI5LIRIT 91 #Z35( S58 BR =EE 10,000 WI5LIRIT
42 22X S45 @k fE 10,000 [LB&RIT 92 Z35ff S58 HA &% 10,000 i &R1T
43 22X  S45 A BE 10,000 WI5LIRIT 93 %361t S59 BRES & 10,000 WI5&LR1T
44 FE2X  S45 mH EE 10,000 [LBR1T 94 ZE36f%  S59 =l BZXR 10,000 L &R1T
45 522X  S45 X BB 10,000 WI5LIRIT 95 %361t S59 EFX EC 10,000 WI5&LR1T
46 221X S45 IWNE EBE— 10,000 WIB5LERIT 96 #3618 S59 ANE —1E 20,000 WD5B£IRTT
47 223X  S46 ®w)l & 20,000 [L&IRIT 97 #3618  S59 FEAR  HR 10,000 = &RIT
48 23X S46 xR RR 10,000 WIBLLERIT 98 #3618 S59 BH #E 10,000 WI5LERIT
49 ZE23ft  S46 Mk ER 10,000 WI5LIRIT 99 37X  S60 3 10,000 WI5&LR1T
50 ZE241%  S47 JoiE & 10,000 WI5LERIT 100 237X  S60 il = 10,000 [LB3R1T
I 600,000 JINEE 605,000




No. AFE 2l Ery ] 5% No. . AFE Al Ery ] 5%
101 538X  S61 IR HE 10,000 W55LIRIT 151 718 H31 T ZA 10,000 W55LERIT
102 %388  S61 NS HE— 10,000 [LB8RIT 152 711X H31 ISP S 10,000 [&BR1T
103 538X  S61 FIR B 10,000 W55LIRIT 153 718X  H31 HiE X 10,000 W55LRIT
104 238X  S61 R ks 15,000 [LBRIT 154 2728  R2 =R EMA 5000 W55&IRTT
105 £538f%X  S61 FE 54 20,000 [LBIRIT 155

106 %3818  S61 isp FIA 10,000 [LBRIT 156

107 £538f%  S61 MmN BT 10,000 /= B8RIT 157

108 39K  S62 A &#& 20,000 WIBLIRTT 158

109 £E39f%  S62 a BHE 20,000 & BRIT 159

110 ZE39K  S62 BE £ 10,000 WI5LIRIT 160

111 B4 H1 A Fah 10,000 W55LIRIT 161

112 24268  H2 Rl EE 10,000 [LBRIT 162

113 2428 H2 B R 10,000 &EBRIT 163

114 24268  H2 RE = 10,000 & S8R1T 164

115 242X  H2 FERIE 10,000 W55LIRIT 165

116 24218  H2 BEEZ T 10,000 WI5LERIT 166

117 5448  H4 HO —8 10,000 &EBRIT 167

118 44X  H4 AR HEis 10,000 & BER1T 168

119 244X  H4 wE = 10,000 LBR1T 169

120 46X  H6 FEE H 10,000 /& BER1T 170

121 246X  H6 XH EBEE 10,000 &EBRIT 171

122 46X  H6 T A 10,000 /& BER1T 172

123 246X  H6 &R HAEZ 5000 /iEBiR1T 173

124 %461  H6 FH == 5,000 JiEBiRIT 174

125 246X  H6 BRE Ex 20,000 i BIRIT 175

126 2491  H9 wWH E5F 10,000 WIB5LIRIT 176

127 249X  H9 =] N ] 20,000 i BIRIT 177

128 Z52HX  H12 HFlh =t 10,000 /& BER1T 178

129 Z55%  H15 BIEH E# 10,000 WI5LRIT 179

130 558X  H15 FE #E 10,000 [LBRIT 180

131 558X  H15 =R 5AER 10,000 &EBRIT 181

132 Z55f%  H15 =EH faE 10,000 WI5LERIT 182

133 560X H20 B BE 10,000 &EBRIT 183

134 260X H20 B % 10,000 & S8R1T 184

135 264 H24 HF OALF 10,000 &EBRIT 185

136 658  H25 ME =X 10,000 WI5LERIT 186

137 5658  H25 wEAT  AOHR 10,000 &EBRIT 187

138 651X  H25 aA HkE 10,000 WIB5LIRIT 188

139 66t H26 Tl = 10,000 &EBRIT 189

140 266X H26 el BE 10,000 & S8R1T 190

141 266k H26 NE BEE 10,000 /=BRIT 191

142 FEe7X  H27 M FRF 10,000 /& BR1T 192

143 268X H28 & P 10,000 &BRIT 193

144 ZFEes8X  H28 g RK 10,000 /& BR1T 194

145 ZE68f% H28 LH F& 10,000 /= B8RIT 195

146 268X H28 BER  RRiE 10,000 & S8R1T 196

147 268X H28 H HE 5,000 JiBiRIT 197

148 69X  H29 =% IEA 10,000 /& BER1T 198

149 69X  H29 L E 10,000 &EBRIT 199

150 714X  H31 NER EHf 10,000 L &RIT 200

JINEE 540,000 JINEE 35,000
a5t 1,780,000




